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1. 7£15.0 ‘CH1 101 kPa F, K 2.00 L TR SARMRIEN CS ik, BAHTE
PR CSo WA, 19K E 3.01 g , SR CSARLE BRI N RS E . (H
SRR E: C 12.0, S 32.0)

fift: SRV R

nzsisy =2V o 101200 e4a(mol)
RT  8314x(15+273)
CS: &I ) &=
3.01

n(CS,) = 2= 0.0396(mol)
CS: TER & U IR A AR E I AIZEUE,

0.0396
CS.) = x(CS.)- p = «101 = 32.3(kPa
P8 =x(C8,) P = 06 +0.0844 (kPa)

2. ¥ 25°C, 100kPa ] N2 0.200 L #1 125°C, 160 kPa 1] He 0.300 L #B3 A —A4
1.00 L 88 rh, FFERE MR 25°C. 15 N2 5 He 70 K 5B & SAAM
MIETT, UK No 5 He [ F1

fi: WIRRAGTTEMREAZ, 19

PV 100x0.200

14 1.00

p(N,) = =20.0(kPa)

puVyuT 160x0.300x (273 + 25)
V-T, 1.00x (273 +125)

p(He) = =35.9(kPa)

p = p(Na)+ p(He)=20.0 + 35.9 = 55.9 (kPa)
H pelV/=pVs15:

PN,V 20.0x1.00
55.9

V(N,)= =0.358(L)

V(He) = 1.00 - 0.358 = 0.642 (L)



